
https://www.passapply.com/omg-ocup-100.html
2024 Latest passapply OMG-OCUP-100 PDF and VCE dumps Download

 

 

 

OMG-OCUP-100Q&As

OMG-Certified UML Professional Fundamental

Pass OMG OMG-OCUP-100 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/omg-ocup-100.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by OMG
Official Exam Center

 

 

OMG-OCUP-100 VCE Dumps | OMG-OCUP-100 Study Guide | OMG-OCUP-100 Exam Questions                               1 / 4

https://www.passapply.com/omg-ocup-100.html
https://www.passapply.com/omg-ocup-100.html
https://www.passapply.com/omg-ocup-100.html


https://www.passapply.com/omg-ocup-100.html
2024 Latest passapply OMG-OCUP-100 PDF and VCE dumps Download

QUESTION 1

A found message in a UML interaction diagram is a message with what characteristic? 

A. the sending event is not present 

B. the receiving event is not present 

C. has no corresponding execution occurrence 

D. chosen by the modeler to consider in this diagram 

Correct Answer: A 

 

QUESTION 2

What are metaclasses? 

A. classes that are abstract 

B. classes that have no supertypes 

C. classes whose instances are objects 

D. classes whose instances are classes 

E. classes that are instances of classes 

Correct Answer: D 

 

QUESTION 3

The instance diagram in the exhibit contains father and son without underlines. What is the meaning of this? 

A. The Don class is a superclass of the Josh class. 

B. An association having end names father and son. 

C. The diagram is a mixture of class and instance diagrams. 

D. A link of an association having end names father and son. 

E. The names are incorrectly specified, because underlined names are required. 
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Correct Answer: D 

 

QUESTION 4

In the exhibit, which relationship may have extension points attached to it? 

A. between Use Case B and Actor Y 

B. between Use Case A and Actor X 

C. between Use Case E and Actor Z 

D. between Use Case C and Use Case A 

E. between Use Case A and Use Case D 

Correct Answer: D 

 

QUESTION 5

Which multiplicity expressions are valid? (Choose three) 

A. 0,,* 

B. 1 

C. 1..0 

D. -3..3 

E. 2..20 

F. * 

Correct Answer: BEF 
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